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(b)  Write 437-6 correct to 2 significant figures.

[11
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‘Stylish computer desk

Made of laminate wood.
Non-scratch top.

Length is exactly 2000mm
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Luc wants this new desk for his bedroom.

The desk is to fit on the straight wall between his wardrobe and his bookcase.




image10.png
WALL

WARDROBE

'Diagram not drawn to scale

BOOKCASE
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Luc has measured the length of
the wall, which is 600 cm, correct to the nearest 10cm,
«  the bookcase, which is 147 cm, correct to the nearest 1cm,
«  the wardrobe, which is 250cm, correct to the nearest 1cm.

(a) Whatis the greatest possible length of the wall?
Circle your answer. m

600cm 605cm 645cm 610cm 650cm

(b) Whatis the least possible length of the wardrobe?
Circle your answer. m

249cm 24945¢m 249-49cm 249-5cm 250cm
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(c) Can Luc be certain that this desk will fit in the space available?

‘You must
+ show all your calculations,
+ give the greatest or least bounds of any measurements used in calculations or
comparisons,
« give a reason for your answer. 8
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Sanjay stacks three boxes in a pile.

The heights of the boxes are 25cm, 36¢cm and 47 cm.

They are all measured correct to the nearest centimetre.

What is the greatest possible height of the stack of the three boxes? [2]
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Michelle owns a café.
She stacks coffee mugs as shown in the diagram below.

Michelle measures the height of each coffee mug as 12cm, correct to the nearest centimetre.
Each stacked coffee mug creates 4 cm extra height, correct to the nearest centimetre.
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4cm, correct to the nearest centimetre ——

12cm, correct to the nearest centimetre——— "

Diagram nof drawn to scale
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Michelle knows that the vertical height between two shelves is exactly 39cm, as shown below.

 [[pre—
[

Diagram not drawn to scale

Can Michelle be certain that she will be able to place one stack of 7 coffee mugs between the
two shelves?

Give a reason for your answer.

‘You must show all your working. |3}
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(a) (i) A mass is written as 430kg, correct to the nearest 10kg.
Circle the least possible value of this mass. 1]

420kg 425kg 429-5kg 426kg 424-9kg

(ii) A time period is written as 22 seconds, correct to the nearest second.
Circle the least possible value of this time period. 11

22s 20s 21s 21-5s 214s

(iii)y A population is written as 85 people, correct to the nearest five people.
Circle the least possible value of this population. [1

83 people 81 people 84 people 82 people 80 people
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((’/ WALES V IRELAND w

Wales are to play Ireland in an international rugby match.

The rugby pitch at the stadium is measured.
On the diagram below, each measurement is given correct to the nearest 10 centimetres.

10m 10m
- - - -

A B

100m
Diagram not drawn to scale

What is the least possible length of AB?
Give your answer in metres.
‘You must show all your working. 3
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(c) A kitchen worktop measures 301 cm, correct to the nearest 1cm.

Derek needs to fit two of these worktops together along a wall measuring
605cm, correct to the nearest 5ecm.
Unfortunately, he finds that the worktops do not fit.

Explain why this might have happened, and state the greatest possible
difference between the lengths of the wall and the two worktops.
[4]
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